
 S1 

CK = CKmin  S1

 S1  S2 

 CK  3.8 

di/dt  S1 

dv/dt 

 S2 di/dt

 CK  1

 ZVS 

 ZCS 

 ZVS  ZCS 

 3.26 

LISN  3.25  1  2



LISN

V S
 

IS

GROUND

GROUND

GROUND

 S1  S2 

 3.27

 3.28 [193]  3.26



100dB�V

  60dB�V

  20dB�V
+VZ -VZ

10kHz 100kHz 1.0MHz 10MHz 30MHz

100mV

1.0mV

10�V

Is/A

48

20
14 �

20 ns

450 V

Vs / V

150 ns 130 ns

10A

10V

100mV

1.0mV

10�V

100mA

1.0mA

10�A

100mV

1mV

10�V

100dB�V

60dB�V

20dB�V

iS iT iD i� VS

fg

10kHz 100kHz 1.0MHz 10MHz 30MHz

10kHz 100kHz 1MHz 10MHz 30MHz

100mV

1mV

10�V

100dB�V

60dB�V

20dB�V
10kHz 100kHz 1MHz 10MHz 30MHz

10kHz 100kHz 1.0MHz 10MHz 30MHz

+VZ -VZ -VZ+VZ

[299] 


